ACT WorkKeys Assessment Information

CTE Concentrators
Nav.I7-Feb 70" 2015

3 Parts: Applied Mathematics, Reading far Information, and Locating Information.
Test format: Onling
Timing: 3 hours and la minutes. Each sectian is timed..A timer will appear on the computer screen,

Earn a Lareer Readiness Certificate and be able to match your skills to careers. A student can attach a copy of their certificate to a resume or job
application.

Possible sceres range from 0-7.

[ to<3-Ho certificate will be earned
3-Bronze

4-Silver

5-Gald

B or 7-Platinum

. Under new state accountability requirements set by the State Board of Education, North Caralina students now take a series of tests for college and
caregr readiness that includes EXPLORE in 8th grade, PLAN in 10th grade, ACT in ith grade and WorkKeys in [2th grade. The state uses these test

results as an indicator to gauge how well schools are preparing students for higher education, job training and future careers. Please take pride
and do your bast. :

Student needs ta supply: Calculatar, 2 pencils.

Test Practice Questians

1) Applied Mathematics: (33 Duestions) 55 minutes
Level 3 Question:

In your job as a cashier, a customer gives you a $20 bill to pay for & can of coffee that costs $3.84. How much change should you give back?
. $15.28 ' '

2. 1616

3. §I6.28

4. $16.84

n. 1716

1. §15.26 = $20.00 - $4.74

2. SIBJ6 = $20.08 - §3.84 =Correct
3. SIE.26 = 820.00 - §3.74
4. §IB.84=1520.00~ 3316

. 8. 81746 =$20.00 - $2.84



Level 4 Question:

liver the last 5 days, you made the following numbers of sales calls: 8, 7,9, 5, and 7. (I the average, how many calls did you make each day?
. 5.8

2.10

372

440

o.36.0

To get the average, first add up the numbers in the series, then divide the sum by the quantity of numbers in the series.

. (B+7+0+5)+5=58:Forgot to include the last 7
Z. 1.0is the mode value of the numbers in the series

3. (@+7+9+5+7)+8=T.2 alorrent
4 (B+7+8+0+7)+4=1
5. 8+7+8+5+7=36.1: Forgot ta divide by 5

Level & Duestion:
(luik Call charges 18% per minute for lang-distance calls. Econo Phone totals your phone usage each month and rounds the number of minutes up to

the nearest 19 minutes. |t then charges $7.90 per hour of phone usage, dividing this charge into 15-minute seqments if you used less than a full hour.

If your office makes & hours 3 minutes worth of calls this manth using the company with the lower price, how much wil these calls cost?
. $33.50
2. 54148
3. $41.87
4, §54.00
0. $o4.04

Ta calculate Quik Call's price, convert 5 hours 3 minutes te minutes {B0 x 5 = 300; 308 + 3 = 303 minutes) and then multiply this by the
rate of

18¢ (30.18) per minute, which equals $54.54, To calculate Econo Phene's price,

rourd B hours 3 minutes up to § hours {5 minutes and then convert the 15 minutes

to % ar .25 hours. This valee of 5.25 hours is multiplied by the rate of $7.90 per hour

to obtain $41.48. Compare the twe costs, $54.54 and $41.48, ta determine

the lawer cast,

1. Ghrx§7.80/hr = §38.50

525 hr « §7.90/hr = $41.48 aCorrect

5.3 hr x §7.90/hr = §41.87

& hr x B0 min/hr x 18¢/mir = §34.00

& hr x B0 min/he = 308 min; 303 min x 1B%/min = $54.54

o opa N



Level B Ruestion:

You are preparing ta tile the fioor of a rectangular rom that is (5% feet by 18Y% feet in size. The tiles you plan to use are square, measuring I2
inches an each side, and are sold in boxes that contain enough tile ta cover 25 square feet, How many boxes of tiles must you order to complete the
jah?

LN

212

3. 34

4 59

0,287

First, convert 15% fu 15.5 and 1B!% to 18.5 and multiply these two values to obtain the area of the room in squere feet. Next, divide this

number (28B.75) by the area cavered by one bex of tiles (25 sq ft). Finally, round 147 boxes up ta 12 boxes, as it is probably not possible

ta order a fraction of a box of tiles.

1. 15% hezomes 15.5 and 18% becomes 18.5; 15.5x 18.5 = Z86.75 sq ft;
286.75 sy ft + 25 = 11.47, then rounded dows to 1t boxes
2. 15% becomes 15.5 and 1B} hacomes 18.5; 15.5 x 18.5 = 288.75 sq fi;
28B.75 sq ft « 28 = 11.47, then rounded up to 12 baxes -Correct
3. 15.9 +18.5 = 34: Added the reom dimensians
4, 15.5+18.5 + 20 = §8: Added all the dimensions given in feet
5. 15.0x18.5 = 2BB.75, then rounded up to Z87: The area af the room in square feet

Level 7 Question:
The farm where you just started warking has a vertical cylindrical oil tank that is 2.5 feetacross on the inside. The depth of the oil in the tank is 2

feet. If ! cubic foat of space holds 7.48 gallons, about how many gallans of oil are left in the tank?
I 37

2.51

3 7

4.230

0. 79

First, Inok up .tha formula for the volume of a cyfinder (v 74). Next, divide the diameter
(2.5 ft) by Z to find the radies (1.25 ft) and calculate the volume of the cylinder (3.81 cu ft). Finally, the volume must be multiplied by 7.48,

~ the number of gallons per cubic foot, ta find the number of gallans remaining in the tank.

1. Multiplied 2.5 x 2 x 7.48 = 37.4, then rounded down to 37

2. Forgot te square 1.25; 3.04 x1.25 x 2 x 7.48 = 58.72, then rounded up to 59 7 o

3. 25+2=125 306 x (1.25) x 2 = 9.81 cu ft: 9,80 ou ft x 7.48 gal/cu ft = 73.4 gallons; then roundad down to 73 -Correct
4. (.25 x 3.04)" x 2 x 7.48 = 23047, then raunded down to 230

5. 3. x(2.5) x 2 x 7.48 gal/cu ft = 293.59 gallons, then rounded up to 294: Used diameter” instead of the radius



Reading foi Infurm_atinn: {33 Ruestions) 59 minutes

Lavel 3 Questian:
ATTENTION EASHIERS:

Al store employees will now get Z0% aff the price of clathes they buy bere. Please follow the
new dirgctians fisted belaw.

Selling clothes to employess
wdsk tn see the emplayee s store jdentification card
=fiter the emplayes s department code nunmber info the cash register,
. #lfse the cash register tr take Z0% off the price. Then push the sales tax buttan
=frite your fnitials on the sales receipt
#$5lf clothes to emplopees during stare hours onfy,

Accapting clothing returns from employees

s/ mplgyess receive a stare credit certificate for clothes they retura Is the store,
#§tare credit certificates are next to the giff certificates, -
*[mplayees may not get & cash refund far clothes they return to the store

You are a cashier. According to the notice shown, what should you write on a stare employee's receipt?
A. The employee's identification number

B. The employee's department number

C. The amount of sales tax

0. The 20% discount price

E. Your initials

4. The employee has to show an id card, but you are not instructed to write down the number,
B. You are instructed to enter the department numhber into the cash register, not the receipt.
C. You are instructed to push the sales tax button for this step.

D. Youare instructed to use the cash register to take 28% off the price.

E." The nntice states, "Write your initials on the receipt.” «Correct

Level 4 Questian:

- INSTRUETIONS 77 SORTING DEFARTHENT:
SPECIAL PROJECT 77 IR OROER #5588

Five fong, bive plastic bins have been placed aver by the overhead dear.
Piled on the other side of this room, near the time clock, are severs/
thousand steel rods of varying lengths. AV of thase rods must be sorted
by length and placed in the bins.

Bin ' is for rods that are four to five meters foag.

Bin ‘2" is for rads that have 2 length of over five meters, up to
sty meters.

Hin °3" s for rods that have 2 fength of aver six metars, up ta
gight meters.

Bir 4" s for rods that have 3 length of over sight meters, up to
len meters.



Bin 5" s for warped ar unsmaothed rods. These will not be
accepted,

i these rods are not all serted correctly, the customer will refect the
arder, We cannat afford to et that fappen again, Work as quickly as you
can because Friday is the deading for delivery of the order,

According to the instructions shawn, what is a condition fer project suceess nther than delivery on time?
A Al rods must be sorted by both kzngth and diameter.

B. Rods eleven meters lang must be [eaned against the overhead doar.

L. The customer does not want rods that are warped.

D. The five-meter-long rods must goin Bin 2,

E. The ten-mater-long rods must arrive at the customer in Bin 4.

The instructions state no requirement of checking diameter, even though they mention sorting by length.

The instructions mention no sech rods. _ o _

The instructions mention the unacceptability of the warped ores. -aCarrect

The instructians plainly say to put those rads in a bin ather than 2. '

The instructions do not say the rods will stay in these bins all the way to the customer; each binful could be dumped into a
separate truck and delivered that way

me nme

Level 5 Huestion:

Baldberg s Auta Parts is served by mors than fifly
different accounts, each with its awn sales
representalive, company nAame. corparats daress, and
shigping address. As a shipping and receiving clerk at
Boldberg's, you are requirad 1o refurn defective
merchandise tn the manfacturer,

Standard pracedure for returning sn item beging with
yaur writlen request to the caompany for autherization.
Always serd te request to the cornarale sddress, nof to
the shigping address. Urless the company fik falder
£ontains 3 farm for this procedure. write 2 busiess
letter to the manufacturer sugplying the ftem'’s stock
mumber, cost and iveice number; the date if was
recesved- and the reasan for its return. The
manuiacturer’s reply wil inclide an suthorization
number from the sales representative, a sticker far you
ta place on the outside of the box fa identify it as an
autharized return, and a closing date far the company §
acceptance of the refurned item, ff yau di nof atfach the
Jrovided sticker. your refurned fox will be refussd by
the manufarturer as unauthorized and you will need ty
abtain 8 new letter, autherization, sticker, and closing
date. Always send 7 returned box to the shigming
adiress, not to the company § corporate address.



According to the policy shown, what should you do if you lose an authorization sticker?

|. Send a request for a return autharization along with the rejected part diractly to the manufacturer's shipping address.
2.5end & request for return authorization along with the rejected part directly to the manufacturer's carporate address.
3. Repeat the standard procedure to obtain a new letter, authorization, sticker, and closing data.

4, Use a sticker from anather company's foider.

0. Send the rejected part tn your sales representative.

| Although it is correct that returned boxes should be sent to the manufacturer's shipping address, the box will be refused if it
does nat have an autharization sticker,

2. Neturned boxes should not be sent to the manufacturer's corporate address, and the box would be refused without an
authorization sticker. _ _ _

3. The passage states, "If you do not attach the provided sticker, your returned box will be refused by the manufecturer as
. unauthorized, and yeu will need ta obtain a new Istter, authorization, sticker, and closing date." Therefore, if you inse the,
original autherizatian sticker, you will have ta repeat the standard. prunadure to get a new letter, etc. «Correct

4. An authorization sticker from anaother company would not have the correct authunzatlun number frem the manufanturer- s
sales representative.

3. The sales representative provides the autharization number, but the rejected part goes fo the manufacturer's shipping
address after the autharization sticker has been received. The rejected parts donat go ta the sales representative.

Level B Question:

From: /. Kimura, Senior Vice President of Maften Metals, b
To: 48 g-mail users at Maltan Metals, inc.

1 parmit gur emplayees ta communicals directly with one another as well as with
vendars and customers, Malten Metals, Inc. provides a netwark of e-mail accounts.
Access to g-mail is at the sole diserstion of Molien Metals, iz, and we will determing
whe is to be so empowered, Under President uarie s leadsrship, il messages sent
and recesved (even thase intended s persenal) are trested as business messages.
Molien Metals, Inc. has the capabilty ta and reserves the right to access, review, copy,
and delete any messages sent, received or stired on the company g-mail server.
Maitan Motals, Iz, will disclase these messages tn sny party (nside or outside the
company) it deems apprapriate. Emplayees should treat this server as 3 constantly
reviewed, shared file stored in the system,

Dug ta the reduced fumsn effort required to redistribute lectronic infarmation,
greater degree of cavtion must be exercised by emplayees transmitting MY e,
confidential infarmation using company e-mail accounts. Lonfidentia! infarmation
belonging to MY Inc. is imporiant to aur independence and should rever be
transimitted or farwarded to persons or companies not authorized to receive that
infarmation. Likewise, it should not be sent or forwarded to other employees inside the
campany wha da ot need tn frow that infarmation,

MM toc. strongly discourages the starage of large numbers of e-mail messages for 2
number of reasons. First, hecause e-mail messages freguently contsin company
confidertial infarmation, it is good fo fimit the number of such messages to protect the
campany § information, Second retention of messages fills up large amounts of
starage space on the 8-mail server and personal hard disks, and can siow down the
perfrmance of both the retwork and individual persanal computers. Finally, in the
event that the company needs fa search fhe netwark server, bakyp tapes, or individval
Hard disks for genuinely important decuments, the fewer documents it has to search
thraugh, the more economical the search will be. Therefors, emplayees are to delete



a5 SO07 38 passible any e-mail messages Wey send or receive,

Based on the memo shown, personal messages transmitted or received usmg Mblten Metals; Inc., &-mail accounts will be:
A. automatically deleted upan detection.

B. avnided by server staff to save company time.

L. forwarded to private, personal accounts.

D. grounds for personnel action,

E. treated no differently from other messages

A. The mema states that the company "has the capakility to and reserves the right to. . .delete” any messages on the company
server, but it does not say that anything will be autematically delated. _

B. Itis the numher of e-mail messages that cost campany time when duing a search, not the type, and for that reasan, employees
are asked to delete as many messages as possible.

L. Emplayees are asked to delete unnecessary messages but the memo does not suggest saving any of the messages anywhere
alsa,

D. There is no mention of personnel action in the memo. _

E. The mema states that "all messages sent and received (even those intended as personal) are treated as business messages.”
Dther than that statement, there is ne differentiation between business and persoral messages. <Correct

Level 7 Question:
anrﬁb’ﬁnﬂhﬁl‘;{

Lilent and Consultant agree to maintain the confidentiality of each other’s trade secrets and any confidential business information disciosed during
the term of this agreement, except as authorized by the party that disclosed the information. When the consulting services have been completsd
the parties will refurn all confidential materials and equipment pravided during the term of this agreement. unfess kespiag the materials i
autharized by the perty thet provided them, Fach party s responsible for identifying afl trade secrets, confi a’enfra/ fusigess infarmation, and
confidentizl materiafs.

Hothing in this or in any other agreement will prevent any party from using or disclesing confidential information to the extent necessary ty carry
out the responsibilities in this agreement: or wil restrict any party s use or disclosure of information that is or becomes publicly known through
lowifl means, that was rightfully in that party s possession or part af that party s gensral frovledye prior (o the term of this agreement. or that is
diszlased to that party withaut confidential ar propristary resirictions by 7 person whe rightfufly passesses the infarmation; ar wil ﬁPEVEﬁf any
party from respanding ta  lawlul subpagns or coorf arder.

Llignt agress that Lansultant will neither use nor disciose the trade secrats, confidential infarmation, ar confidential materisls of third parties, and
Liient will naither ask nar require Lonsultant i o so.

Miscellaneous Frovisions

Al agreements and understandings between the parties concerming the subject matter of this agreement are embodied in this agreement and any '
propasal to which the parties agreed. It is understaod and agreed by both parties that there are no oral or other agreements or understanding
between the parties affecting this agresment

This agreement shall supersede all prior and contemporaneous agresments and undsrstandings befwesn t/f& parffes with respect o any subject
cavered by this agreement. except a5 otherwise pmwdea’ i this agreement

This agresment may not be amended except in writing by an instrament. signed by each of the parties. Na failure or delsy in exercisig any right
under this agreement shall nperate as 8 waiver thereof

Neither party shall assign or atherwise transfer any rights or obligations under this agreement without the written consent of the other party.
Subject ty the faregaing agresment. this agreement shall be birding tpon and shall faure fo the benefit of the parties ' respective heirs, successors,
atiarngys, and permitted 3ssigRess.



i any provision of this agreement, or its agplization to sny person, place, ar circumstance, is held by an arbitrator or a court of competent
Jurisdliction fo be invalid unenforceable, or void such provision shall be enfarced to the greatest extent permitted by fow, and the remainder of this
agreement and such provision as agphed to the other persons, places, and circumstances shall remain i fufl force and sffect

This agresment shall not become binding on either parfy unti both parties execute it

You have hired a consultant ta wark with your firm. Based on the agreement shown, what will happen if the consultant's business is taken over by a
major competitor?

A. The agreement will zonfidentially go into arbitration,

B. The agreement will not be enforceable and is vaid.

C. The consultant is bound by the agreement,

0. The obligations will pass tn the new owner.

E. You must renequtiate the agreement with the new nwner.

A The agreement will confidentially go into arbitration. Thera is nothing stated or implied in this agreement to indicate that the
assignmant must be confidential or ga to arbitration. Attractive because it might.he the anly way to compel cemgpletion of the
work or compliance with the agreement.

B. The agreement will not be enforceable and /s void, Attractive because the terms of the agreement might be all but impossible
ta enforze because the new owner was not a party to the erlginal agreement. However, unenforceability is daclded by
arbitration or a court of law.

L. Correct. The consultant is bound by the agresment. The agreernant states, “Neither party shall assign or otherwise transfer
any rights or obligations under this agreement withaut the written consent of the other party.” Not too abvious because the
cansultant no lenger operates the business, but the :::msultant is nnt r‘eieased fram the agreement wﬂhnut the ::Ilent 5
written consent. CoPeect . _

0. 7he obiigations will pass ta the new mwner. Incorrect because the consultant may not transfer rights or obligations without the
client’s written consent. Attractive because the agreement states, “this agreement shall be hinding upon and shall inure te
the benefit of the parties’ respective heirs, successors, attorneys, and permitted assignees,” meaning that the terms of the
agreement may be transferred, but tha transfer is subject to the written consent of the other party.

. You must renegotiate the agreemant with the new swaer. You may wish to use the new owner in a consulting caparity, but
there is no abligation under this agreement to do so

Locating [nformation (38 Questions) 55 minutes -

Level 3 uestion:

You regularly check the pressure gauge on a large tank. According o the gauge shawn, what is the current pressure {in PSI)?
.30
2 31
3. 40
4, 45
5.100



I The graduations are by I0s not Z0s. Attractive berause if graduations were by 20s, the pressure wauld be shaut 30 (between
20 and 40)
graduation (31) and 40, sd it reads 35 as best choice. «Correct

3. Atteactive hecause neadle is closer to 40 than 20, but 35 is best chaice.

4, Attractive to those wha read 40 and then increase counterclockwise by 5 to get 45.

8. The needle is to be read using the pointed end. Attractive because the short, wide end of the needle points to 180.

Level 4 Muestion:
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You must sort clothes in a dry cleaning establishment according to the customer's instructions. According to the form shown, how shauld this
customer's shirt be treated? :

|. Dryclean it. add light starch, and fald it.

2. Dryclean it, add light starch, and place it an a hanger.
3. Launder it with no starch and place it on a hanger.

4. Launder it with light starch and place it on a hanger.
4. launder it with medium starch and fold it.

1. You are ta launder the shirt rather than dry clean, and it should not be folded.
2. You are to launder the shirt rather than dry clean.
3. The shirt should be starched lightly.
4. The shirt is to be laundered and then starchied (Ilght) and _
" on a hanger. «larrect
9. The shirt should be starched lightly not medism and it shﬂuld not |JE Talded.



Level T fluestion:

0

HEADWIND COMPONENT
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CROSSWIND COMPONENT

As an airplane pitat, you need to determine the crosswind component of the wind speed to ensure safe takeoffs and landings. According ta the graph
shown, if the reported wind speed is 45 knats at a 20° angle, what is the crasswind component, in knots? '

A

B
L.
0.
E

I3

Vit
43
44
i}

"~ First, Iocate the 20 dégree line on the "Relative Wind Angle” scale, Move aluhg this line tn'halfway between the 40- and SO-knat

arc lines. This is the 45-knot wind speed peint. From this point, drop straight down to the "Crosswind Component” axis to a
paint halfway between 10 and 20, This is the crosswind component, 15 knots. aGorrect _ o

The intersection between 20 on the Crosswind Component axis and 45 on the "Headwind Component” axis falls on the 25
degree line for relative wind angle, but this does nat account far the value of 20 degrees for relative wind angle.

43 knots is the headwind component for a wind speed of 45 knots at a 20 degree angle, but the question asks fer the
crosswing compunent, not the headwind companent.

This reftects an incorrect reading of the chart based on following the 20 value from the "Headwind Component” exis down to
the crosswind companent value of 45.

The: intersection of 20 gn the "Headwind Component” axis and 45 on the "Crosswind Companent” axis is near the B3-degree
{line for relative wind angle, but the question asks for the crosswind compenent, not a wind angle value.



Lavel B Question:
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Texture Depth Shrink-swell
Soil name class (Inches} potential
. 6-7 low
Sarpy sty Joam 7-60 low to moderate
i {38 mederate
Kenneber . sill loam 3860 low 1o maderate
. o~ igh
Colo silty clay lowm .’?IE‘GIU R}gh
0-17 figh
Rlend silty clay 17-29 moderate to high
29-60 high
{128 moderaite to high
Nevin ciny loam 28-48 moderate
A48-60 moederate
" 0-24 low
Kenmoar loamy sand 2460 high

You are a road cantractor and you have analyzed a soil that you want to use for road fill. Your analysis shows that the sail contains 15% sand, 5%
silt, and 20% clay. You need to know what the shrink-swell potential is for the soil because it will affect the durability of the road. Based on the
diagram and table shown, what is the shrink-swell potential at a 30-inch depth for this soil?

. Low '

2. Lowto moderate

3. Moderate

4. Moderate to high

o, High

1. The shrink-swell potential for silt 'pam is low (to moderate) at range 38-B0", bat you are interested in 30°.

2. The shrink-swell potential for silt Ioam is low to moderate at range 3B-60", but you are interested in 30°.

3. The shrink-swell potential for silt loam at 0-38" is moderate, sa the shrink-swell potential for 30" is moderate. -« Corract
4.  The shrink-swell patential for silt loam at 30" is moderate, but does not range to high.

3. The shrink-swell potential for silt Inam does not range ta high.



